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PAIR OF LINEAR EQUATION

IN 2 VARABLES

CHAPTER -3
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#LP : For the pair of equations kx + 3y = -7, 2x - 6y = 14 to have infinitely

Wgs/, find the value of ‘k’.
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#LP : The pair of equations y =0 and y = -7 has:
A. One Solutions " \a,

B. Two solutions
C. Infinitely Many solutions
D¢/No solutions
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#LP : Solving the followngg systems of equations by using the method of

substitution: ——-r[—J'»%
x+2y=-1;2x-3y =1
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#LP : A part of monthly hostel charges is fixed and the remaining depends on the

number of days one has taken food in the mess . When a student A takes food for
20 dc%s , she has to pay Rs. 1000 as hostel a’ijarges whereas a student B , who

takes food for 26 days , pays Rs.1180 as hostel charges . Find the fixed charges and
the cost of food per day. =

Joh ded chorge 42
FQ* o\az ohowgﬂ ’Té




#LP : Solve for xand y :

x/10 +y/5+1=15; x/8 + y/6 =15 (
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#LP : Solve the followin
49x + 51y = 499
Six + 49y = 501
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@ : Solve for xand y :
X X ; X
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#LP : Find the values of p and q for which the following system of

equations has infinite number of solutions:
2x +3y =7
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%’ : The pair of equations 3L 81; 81"7= 3 has:
A. No Solutions
B. Two solutions

C. Infinitely Many solutions x—rg
D. None of these 3




#LP : Solve for xand y : . ax+by= a2+ h2
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#LP : Yash scored marks in a test , getting, 3 marks for each right answer and
Josing 1 mark for each wrong answer . Had 4 marks been awarded for each correct
answer and 2 marks been deducec for each incorrect answer , then Yash woﬂd

have scorecksb'\arks—HWM'&TTy questions were there in the test 2
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#LP : The sum of the digits of a two digit number is_8 and thi difference

@the,numbeg and that formed by reversing the digits i . Ejnd the
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#LP : The age of the father is twice the sum of the ages of his 2 children . After 20
ears, his age will be equal to the sum or the ages of his chlldl:gg Find the age of
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# LP: A fraction becomes 2 is added to both the numerator and the
denom o both the numerator and the denominator it becomes

3/6, find the fractlon







